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Subject Name: Mathematics-I1
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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (a) Do as directed 07
1. Ifthe three points (-k, 1), (k,3), (6,5) are collinear, find the value of £.
2. Find the equation of locus of a moving point P(x,y), which moves such that PA =
2PB where A(-2,3) and B (-3,2) are given fixed points
(b) Do as directed 07

1. Find the equation of line which passes through the point (4,3) and perpendicular
to the line 4y —3x + 7 =0.

2. Ifthe two straight lines 3mx — 2my — 10 = 0 and
(5m+2) x — 4my — 28 = () are parallel then find the value of m.

Q.2 (a) Do asdirected 07

1. Ifthe radius of circle 4x’+4y°— 16 x — 12y + a=0 is 2, then find the value of a.
Also find the centre of circle.
2. Find equation of tangent to the circle x” +)” — 4x + 2y + 3 = 0 at the point (/,-2).
(b) Do as directed 07

1.  Iff{x) =log x, prove that
O S =/x) )
() fxh) = fx)—fv)

2. Evaluate
lim x> -8
x—2 x-2
OR
b Do as directed 07
(
1.

If f(x)=e", prove that
(1) f(x+y)=f(x).f(y) and
(i)  f=»)=f®/f()

2. Evaluate
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+sinx—1

x—0 ¢ Tsmx—7
X

(a) Do as directed

Differentiate x* by using first principle of differentiation.

If y=log (tan x) + cos x, find ?
X

Do as directed

Find @ if 4
dx a2 b2

Find i ifx=asec6 y=>btand
dx

OR
Do as directed

Differentiate cos x by using first principle of differentiation.
If y=log,| "% , find ¥
a—x dx

Do as directed

Find i if xsiny +ysinx =0
dx

. . . -] -1
Differentiate sin'x w.r.t. cos” x

Do as directed

2
If y =a cos(log x)+bsin(log x), show that x? d_;/ +x§+ y=0
dx X

If displacement of a moving particle is given by
s =1—3¢+ 4t + 3. Find the velocity and acceleration at ¢ = 2.

Do as directed

Evaluate _[ (cosecx —cot x)cosecxdx

x3

2+x4

Evaluate _[ dx

OR
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Do as directed

2
If y=log[x+Vx®+1] Provethat(1+x2)%+x%=0
X X

Find the maxima and minima of the function y=2x"— 3x’~12 x+5=0.

Do as directed

dx
Evaluate 3
9+4x
cosx—sinx
Evaluate J' —————dx
CcoSx +sinx

Do as directed
Evaluate J' xsin xdx

.2[ dx

0 1++/tanx
Do as directed

-
[—-dx

2
0 1+x

Evaluate

Evaluate

Find the area includes by the parabola x° = 4y and the line y = x, by using

integration
OR
Do as directed

Evaluate J log xdx

T

2 3\/ sin x

Evaluate dx

2). 3\/ sinx + 3\/cosx

Do as directed

3
Evaluate J'
114—X

Find the area includes by the parabola y* = 4ax and x* = 4ay.

dx

2
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2. Xl —dax+2y+3=00a [olg (7,-2) oL Wse] Als0L AN
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lim x> —8

x—>2 x-2

(6) YAl YHIL 831

%R f(x)=e*, Al AlAd 5 ¥

(1) S(x+y)=f(x).f(») and

i)  f=»=f(0)/f(»)
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2. 9%l y = log(tan x)+cos x, cl ? nul.
X

3. (G) Yol yHIA s

2 2
LRy Q2 aa
az b2 dx

2. oAl x = asecby = btan@,d? % el
X

Wl
U3, () YAl yHId 83U

1. (@Ascotet yur Rgidell Heedl cosx o [@Ascst s2A.

2 Ry=log T A Y aa

a—x dx

(¢) YRAoAl YHIQL 5L

1. °ca.xsiny-irysinx =0,dl ? el
X

2. sin'le{'i cos' xal A& (AS$ctot 5?7,

U, () YAl yHI A

2
1. 2l y = acos(logx) + bsin (logx),d? Al .’}xzd—§}+x%+y=0
dx X

2. As sQell oA s =F- 37+ 4t +3 B, A =2 wotn QoL AR YQor L,
(6) YAl YHI 831

1. (Bud j (cosecx —cotx)cosecxdx

2. [BHct A |

3
X 4dx
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R y=loglx+ Va2 +1] A W@ 53 3 1+ 92 ¥ g

dx2 dx

y = 20-3x-12x+5 = 0 ol H5TH UA oottt (SHA 2.
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(BHc A | -
9+4x

@Hd %'lal I COSX — smxd
COSX +sinx

() YUl YHQL 53A

(Sxct 20 stinxdx

(EH 0

1+ tanx

(6) YAl YHI 81
Lo

(Bud 0 ({szdx
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UYal
() YAotl YHIA s
(Bud 0 f log xdx
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(Bud Qa f Ysin
\/Slnx+3\/COSX

(61) Yol YHIQ 52
3
Bud el [

1 1+ X
URAAA ) = dax U X’ = 4ay 3 AAAA 8Asf AAsN Ul
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